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X 3,062,000
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03 A& 2 THHI 14,000 19,000 A5,000
OZ2 - otLRNLa=C T ALY 10,000
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Xl 62,000
e 144,670
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s 1,071,059
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Xl 588,000
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AsTHESH 4,000 3,000 1,000
202 04l 3,000 2,000 1,000
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EA: Mot A A
Hm: ZZAE 22
SR P ENE (S &2)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
OA&E 223 L AEAEXRRA 2N 35,565
(OPIR==] 44 6403 x2H %251 22,410
Onr3&sdsrd 44 640 »2H x52 4,643
Oz 66,9603 1 x52 3,482
(@ A==Pi =, 44 6403 »2H x 12 1,072
O=30d=z82=2 31,299, 000& x4 .5% 1,409
OALEE=EL= 31,299,000 *2.945% 922
OLoALBHEHZ 922,000& *6.55% 61
OLNEsSEEREY=2 31,299,000 x1.5% 470
OMMESE = 31,299, 000& *x3.5% 1,096
201 Bt A H| 571,600 539,580 32,020
01 At 22l bl 39,100 24,880 14,220
OBt 2H| 36,220
Ost+g&EHdeldl (4, alg, HR)
130,000& 250 32,500
Og+i 2 255 gyl
300,000& *43] 1,200
OdtE=MMHI| EXELAINIE S22 4|
60,000& 218t 5 %23 2,520
o1 =l 2,880
Oo&gs 60,0003 x16YH 23| 1,920
O& g3t 40,000 x16H 13l 640
O&s & 29 20,0003 x16Y¥ 13| 320
02 3524l 532,500 514,700 17,800
02222 2 MA 472,100
OIDHEBIEMEIANE I3 (B, BsAl4d
LEH) 460,000
(OFSPIRUPSE=:R=1]:]] 100, 000& *13] 100
OLHAHA dE3 &I 1,000,000& ~12& 12,000
O 9" ZHl 1,140
OAIEZ2HHZHI (B R)
1,900& *502| Ef x12& 1,140
O A& &l XYl 54,050
OJIHAIE R Xl 22 28,000
— ABtE T 2 x| 22| 500,000& =3CH 1,500
— =ZETR A2 500, 000& *5CH 2,500
—dsdBsxHd 500, 000& =2CH 1,000
—AMSIRZE 2EI/4+4 1,000,000 *6CH 6,000
— &I S X2 4,000,000 = 1CH 4,000
— 2140l =H 1,000, 000& «3CH 3,000
—2=J| S X2 500, 000& =8LH 4,000
— &3 X2e 500, 000& *=4CH 2,000
— STY AES Al 22 1,000, 000& =4 CH 4,000
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2AMN: Aot ALY A
Hm: ZZAE 22
SR P ENE (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O&IIANE S 2e 11,650
-SSR ANE+ 50,000& *33JH 1,650
—HMIANELAZE 20,000& *10JH x10& 2,000
— S HOUAPCSIHEFE 1,000,000 24 2,000
— H=&H =4 1,000,000& *2CH 2,000
— OlHE WA 2,000,000& =2CH 4,000
OZ=ZTMS | X &2 9,600
— A 22| Ar] 9,600,000& 13 9,600
O& & A&l = Al 4,800
— =M Z2H0H 1,500,000& 23] 3,000
— DO M =1 A 500, 000& 23] 1,000
—DASIEZD] MHZEEH DA
400,000& *23l 800
(OPNE=FaR=las] 2,605,000& =2CH 5,210
202 04| 7,050 7,050 0
01 2LH O HI 5,650 5,650 0
Odt=HelAl&8 2= 5,650
05 323 WEOYI 1,400 1,400 0
Ost=24adlx=T 83| =0 bl 350,000& »4H 1,400
203 R =&lY| 1,000 1,000 0
03 Al =X H R =X Y| 1,000 1,000 0
Odt=HeAd =2 L URAHLD 1,000
206 M = dl 42,360 40,754 1,606
01 & bl 42,360 40,754 1,606
Odtx=HXMelAld =S 32| 26,660
2E (M) 2203 *200kg *365 16,060
[@IE=PNE=FSPA 106,000& * 100 10,600
oggxg(dela) 7 60,000& = 1004 6,000
(OFS=-FaRR=s! 9,700
OAEA A 50,000 155 43| 3,000
OaEs =t 7 80,000& 105 43| 3,200
O HECIZE F¢ 70,000& x50 3,500
307 QI2t0| ™ 139, 100 108,984 30,116
05 A2t &= 139, 100 108,984 30,116
OLFZAALAANAEY 2AQAE (DA 33, HE
) 139, 100
OolAd| 540,000& 553 *3IH 2~ 89, 100
O& I Al 1,250,000& x 165 20,000
OABHEE 3,000,000& x1001 & 30,000
401 Al HIL 201 430,580 89,600 340,980
01 Al &bl 430,580 89,600 340,980




AN dot=SAFE A
Ny ZRolAT B2
& StExXelAE2S (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OS2I ANE I (ct=HelAld)
118,260,000& 14 118,260
OZ3SEIANE AdFHI=AH
56,820,000 » 14! 56,820
OsAXN I =8 (LH)SA
10,000, 000 *2CH 20,000
OEZESNESN & RLEX =6dIA
20,000,000 =14 20,000
OFAMXI AHI0I0 ==& 3 A 14,000, 0003 * 14! 14,000
OzAXNOISEIT 2 (WHM)S A
14,500,000 *3CH 43,500
OSFAUIMESH FL(HME)LEX
158,000,000 14 158,000
405 TtabF S| 5,300 0 5,300
01 AL EFH S 5,300 0 5,300
OPH ¥ 2E&4AsT =FI| 5,300,000 «1CH 5,300
EadXCANE2E 2l 35,000 35,000 0
201 £B-2dH| 15,000 15,000 0
02 =224l 15,000 15,000 0
OAIE ZHI S X 15,000
O2xdHMelAlE 7mX&2 15,000
— =T HA2I =& 5,000,000 «2CH 10,000
—EX ias =4 1,000,000& *52] 5,000
401 AIEHI L 20 20,000 20,000 0
01 A& HI 20,000 20,000 0
O=HMlAIE JIAEH = (WH)ZA
20,000, 000& * 14! 20,000
St=sdHXEsAE29 2el 25,000 201,000 A 176,000
201 -4 25,000 25,000 0
02 2324l 25,000 25,000 0
O A& ZEHls X bl 25,000
OfSsAME ZEX HISHE 6002 +20,0000H 12,000
Odt=sdNESAERI 22 (JIE5E, S4
108) 13,000
- S2EH=H 2,000,000& »24! 4,000
—AX=JIcIH=H 1,000,000 43 4,000
—JIEtA2S WAl 100, 000& x10& *53| 5,000
SHABZEY 2J 22 68,860 58,460 10,400
201 Let24d] 48,860 46,460 2,400
01 At 22l 3,360 3,360 0
OB+t 3,360




2N Aol AIE A
Ny ZRolAT B2
el sla2nHelAE ey CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OLEYdSHEZA MOt 2|2
150,000 x12& 1,800
ORBHAIAE LS 130,000& x12& 1,560
02 2% H| 45,500 43,100 2,400
OZ2Z2=2L M Al 36,000
OZHEZXHIRS(Y, DA, WA
,000,000& x12& 36,000
O A& &4l S XYl 9,500
SEHESHEIZI S22 6,500
—dsWBLHDH 2,000,000 =2CH 4 000
— OIHE A 1,000,000 =2CH 2,000
— @A IIK X2 500,000 14! 500
O HEZ IS X 22 3,000
—JIEtAR2E 200,000& x5= 1,000
— RE=H 500, 000& =4CH 2,000
401 Al HI L 2 0HHI 20,000 12,000 8,000
01 Al&H| 20,000 12,000 8,000
OZSHEIR JIHAH =&(LH)Z2A
20,000,000& x 14! 20,000
otEXelAE SAZ33 AlY 11,904 10,979 925
101 e1214| 7,804 6,879 925
04 JI2tHIZ22XNEES 7,804 6,879 925
ODHTLHANLLAT HFHFY 2R
86,690 *3% x4 x53| 5,202
ODNHEGEHANLLLDE 2272l (H
X, &8H) 86,690 «3H «53| 1,301
OENBIE (24, L&, DA RS o9
86,690 x3H x55 1,301
201 et 2,500 2,500 0
02 232%H4| 2,500 2,500 0
O 2| 1,500
O =JILECIAD(FER)
2,000 x502| & x153] 1,500
O A& &l XYl 1,000
OWZ=IJIYLELCIZD =2l 200, 000& =504 1,000
206 M = Hl 1,600 1,600 0
01 =4l 1,600 1,600 0
O=sARU(ME=MES) 200,000 »38F A 600
Ootx=HelANE =55 ¢
2,0002 *100H x5 1,000
33totE=HeANESH 148,271 95,813 52,458
101 Q124 H| 2,601 0 2,601
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OB+ HAAL L AT HHEY oY
86,690*3H x2 U 53] 2,601
201 LBt 70,500 57,500 13,000
01 At 22l 17,200 4,200 13,000
OgBt+=&H| 17,200
Odt==2 Ll X el bl 130,000& »100& 13,000
ORoGUANAE 25 150,000& 128 1,800
O&EIItHUE =2 200,000& = 12& 2,400
02 8322l 53,300 53,300 0
03323 2 HA 38,400
Oodt=HelAlE &JI2=  3,000,000& 122 36,000
Oste3za 200,000& 128 2,400
O A& ZHl R Xl 14,900
O&s3J=d 500, 0002 »4CH 2,000
Og&=HelIIsA &l 3,000,000 = 1CH 3,000
Ot EHEZI S X 22| 500,000& = 10CH 5,000
OAHEIIwX &2 700, 000& +7CH 4,900
206 = Hl 6,970 6,313 657
01 =8l 6,970 6,313 657
OM=Hl 6,970
CnzXsEHM 9,000 *2.0kg 365 6,570
OXOtEAMUESE 1,000& *400£ 400
401 Al Bl 28I 68,200 32,000 36,200
01 A& HI 68,200 32,000 36,200
OMEUS X MIIEX WHSA
20,000,000& =14 20,000
OO0{ Bt Xl (MOF)ItE I X WAl = At
15,000, 000& * 14 15,000
OJIAHAEEI=E & BEZ0t =& (LA )S A
20,000,000& =14 20,000
ORLdts FEEDT 2 (WH)SA
4,400,000& «3CH 13,200
HEI=HeAANE2Y 101,914 90,548 11,366
101 @124l 2,601 3,335 AT34
M4 II12HHZ22NSES 2,601 3,335 AT34
Odot=HelAIEdENESSIAMNEZUR Y
86,6903 x3H 2 53] 2,601
201 Let24d] 90,500 77,500 13,000
01 At 22l 21,400 8,400 13,000
OB+t 21,400
Odt=2 Ll M el bl 130,000& *100& 13,000
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NS (8204 A)
1,500,000 x12& 18,000

OS2H Ste=s 300,000& »12& 3,600
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206 M= Hl 8,813 8,813 0

01 M= dl 8,813 8,813 0
oOs+Y 200,000& *38f A 600
On=xs&dAM 9,000 *2.5kg 365 8,213

HH JQ

St=XMelEAY 4,718,000 8,112,950 A 3,394,950
2,219,000
609,000
659,000
1,231,000

A

DEYEBNEsSSAEXd M 1,547,000 830,000 717,000
609,000
183,000
755,000

Mo =

401 AIEHIZ 2 I 1,547,000 830,000 717,000
609,000
183,000
755,000

Mo A

01 A€ dl 1,547,000 830,000 717,000
OLNdHUEHMESSAE T EAEY 1,547,000
609,000

183,000
755,000

oA

=SsHENSHEESE MY 391,000 0 391,000
273,000
59,000
59,000
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401 AIEBIZ 2 CHYI 391,000 0 391,000
273,000
59,000
59,000

M

01 A& HI 391,000 0 391,000
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UL RN
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,290,000

902,000
194,000
194,000

,000
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03 Al S THHI
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A 301,000
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414,000
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62,000
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A 301,000
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486,000
340,000
73,000
73,000
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AN dot=SAFE A
Ny ZRolAT B2
& St=Xel ALY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
WHEIsHEOSot=Z2EHEH ALY 590,000 0 590,000
= 414,000
< 88,000
s 88,000
401 Al HIZ 201 Y] 590,000 0 590,000
= 414,000
< 88,000
s 88,000
01 A& HI 590,000 0 590,000
OWMEISHEOSSH=T2H HFHIALY 590,000
= 414,000
= 88,000
s 88,000
St2 AL 8,744,000 3,830,000 4,914,000
= 6,086,000
[ia 2,658,000
ST EUIALS 50,000 55,000 A5,000
401 AIEHI L 20 50,000 55,000 A5,000
01 A& HI 50,000 55,000 A5,000
OSdol=ECZHlAY 50,000
OLEE MSOtSot=TEHHI S AM 50,000
DESot=2H2EHEHI ALY 1,314,000 1,891,000 A577,000
= 920,000
e 394,000
401 A& HIZ 2018 1,314,000 1,891,000 A 577,000
= 920,000
s 394,000
01 A& HI 1,112,000 1,689,000 A 577,000
ONE St H2EH Z HI ALY 1,112,000
= 920,000
[ia 192,000
02 Zeltl 200,000 200,000 0
ODNYESot=2H2EH B ALY 200,000
03 Al S THHI 2,000 2,000 0
ONHSot=2H2EH Z U AL 2,000
B &St H2E A E HI ALY 291,000 714,000 A 423,000
= 204,000
s 87,000
401 AIEHI L 20 291,000 714,000 A 423,000
= 204,000
[ia 87,000
01 A& tl 291,000 612,000 A321,000
Ol Eot=2H2EH ZHI ALY 291,000
= 204,000




2N Aol AIE A
Ny ZRolAT B2
St GH4 I ALY CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
| = 87,000
ol EAH SE2A2IXNYE EHSLANY 7,089,000 0 7,089,000
= 4,962,000
= 2,127,000
403 XX SHHS K20 & 7,089,000 0 7,089,000
= 4,962,000
= 2,127,000
02 BII2S0HCHSCHE AFS I 7,089,000 0 7,089,000
O£ X olx==8H SE2XE &0
A 7,089,000
= 4,962,000
= 2,127,000
ol 2% ¢ 22| 228,590 302,510 NT73,920
ISdl=S A 829 22 228,590 302,510 NT73,920
201 Bt 53,680 53,680 0
02 2% H| 53,680 53,680 0
02222 ¥ HMA 38,280
OARABEZo=XHelAdE JIR2S
130,000 x2200 A+ 12 34,320
OALRABZ2Z20=HelAE B2 XFHA
90,000 %22l 2~ *23| 3,960
O A& & HI KX H| 15,400
OARRPZE220t=HEAIE JIHANESKNE S
ul] 700,000 *220H A~ 15,400
202 044l 3,000 3,000 0]
01 2L Hl 3,000 3,000 0
Odtx=T AIE 2t 204 d] 3,000
203 R F & 1,000 1,000 0
03 AIZH =X 2 F X H| 1,000 1,000 0
Oodtx=C 20l 2A6H & 1,000
307 QI2t0| ™ 170,910 170,910 0
05 QIZtREZ 170,910 170,910 0
OAHRZ2Z2otE=HeAE 2HAE 170,910
OARRPZZ23=HAIE LT AHI (& 13])
150,000 70 &~ x12& 12,600
OARRBZ23=He A E LB AHI (=13])
150,000 150 A %52 117,000
OANAE2H o] 51,000 2% 185! 18,870
OM=&E & 45,000 *220 A~ 43| x4 H 15,840
OANAE2HH| 300,000 x220H A~ 6,600
SHAE A AH| 87,491 89, 351 A 1,860
JlE2dd (AStEZ AL A) 87,491 89, 351 A 1,860




SN dot=Z A A
Hu: @AY
el D23 (Yot At A) (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
A=A HI 3,000 3,000 0
203 2R =AY 3,000 3,000 0
04 RN RFAH| 3,000 3,000 0
OFN2YE 2T 250,000& »12& 3,000
2et2dy| 48,491 50,351 A 1,860
201 2Bt2 Yl 48,491 50,351 A 1,860
01 AtR 2t 2l | 40,007 38,867 1,140
oaet=EH| 11,793
ORAM2II2+EH 5,825
OSAIIEH(EY)TY  300,000& 15 «2CH 600
OYOIMEEHIIEREH(EE) 7Y
120,000 «23| 3 CH 720
O oIMEEHIZAEH(EE) TP
400,000& » 12| = 1CH 400
OoXgols&ExY 1,300& +300H x12& 468
OgAESIA7LHILAMEH  300,000& *13] 300
OsAEX 7Y 20,000% *30&F A +33] 1,800
oss++Y 140,000& »12& 1,680
o=2g=+¢< 25,190
O] 50,0003 1H 1162 5,800
O=AH 50,0002 «1E «251& 12,550
O%¢g =2l 60,000 x 1 *114 6,840
O3l 3,024
ORAN2EJ==et 3,024
02 SE=24H| 8,484 11,484 23,000
O2Z23LHA 6,040
Odst==ZAN8E(0H, 818, HT)
400,000& 12 4,800
O3 RE= 200,000& »23| 400
OofIdesrs 70,000 123 840
O A& ZHl =X 2,444
O& K= AMII==2l 300,000& 33| »2CH 1,800
O=Zgedl=el 34,0003 42| «4TH 544
OHAFX HI 100,000& 13| = 1CH 100
Ol 36,000 36,000 0
202 O 4l 36,000 36,000 0
01 ZLHO I 36,000 36,000 0
OJlzgR+d0 200,000 x 158 ~12& 36,000
WEBE (MBI T AIYA) 3,979,441 5,194,204 A 1,214,763
= 1,695,000
[Ea 2,284,441




2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
HEAHANXE (Mot ASE 2) 2,031,441 3,248,204 A 1,216,763
N ELEIHEES 2,000,000 3,226,003 A 1,226,003
701 JIEtSI HSHES 2,000,000 3,226,003 A 1,226,003
01 JIEtel HE &= 2,000,000 3,226,003 A 1,226,003
O+ SEIHNEES 2,000,000
OXNLM=CAIE&TALY 800,000
OZYM+T (B3 1,200,000
T=HINEELHEES 31,441 22,201 9,240
701 JIEtEI HEEES 31,441 22,201 9,240
01 JIEte HE == 31,441 22,201 9,240
O=ENLSEIIHEES 31,441
Oodetitsot=C 23l 8,465
Osgitsdt==29H| 4,947
OMz0tSdts= 22 Hl 4,874
Osltsdt== 29| 7,327
Og4ditsot=C23 | 5,828
BEXNE(AGI=T AN A) 1,948,000 1,946,000 2,000
2 1,695,000
s 253,000
DESt=HMe B EXAMSEN LIS &S 1,438,000 1,684,000 A 246,000
= 1,438,000
311 X+ 201 Xk &k & 62,400 92,400 230,000
= 62,400
05 JIEFXHY 3 Ol A &f & 62,400 92,400 /30,000
OlN4dot=HelEEXAL S XSO0 A& e 62,400
= 62,400
601 XL S =4 1,375,600 1,591,600 A 216,000
= 1,375,600
05 JIEI=2 UKt S 3 atE 1,375,600 1,591,600 A 216,000
ONHI=HelBLEXALEXNSAS A E 1,375,600
= 1,375,600
DYEGt=HMelZ DS MelAEAgstde 3o E 170,000 173,000 A 3,000
= 170,000
311 Xt S0l A& & 20,800 23,800 A 3,000
= 20,800
05 JIEtXH S 01 At & & 20,800 23,800 A 3,000
Olndot=HMelZ DMl AMEAMLESIU30|AHa
B 20,800
= 20,800
601 XL S A& & 149,200 149,200 0
= 149,200




2N Aol AIE A
o HRES (Mo TAYL)
S BEEXNES(MGIETAIEA) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
05 JIEI=UXIY 234 E 149,200 149,200 0
ODAHSIEXe B IDEXNCAIZEAS SN2 24
st 149,200
= 149,200

e ot AXNXMEIAEANSERNEC = 87,000 89,000 A2,000
= 87,000
311 7,800 9,800 A2,000
= 7,800
05 7,800 9,800 A2,000
o4 EPNPSEIPNR=PN3=E=PNE=JUPN;
ot g 7,800
= 7,800
601 A =JSae 79,200 79,200 0
= 79,200
S JIEt =Y =S 4aE 79,200 79,200 0
ON4dot=HMlEsAXNMeIANLEMNLESTNSES
of g 79,200
= 79,200
=.EHEXStE= 253,000 0 253,000
802 Et&t = JI EF 253,000 0 253,000
0B AHd=s 253,000 0 253,000
OgEsidcisad mN2xs A0 OE
ghat 253,000




